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R CIhtééers and the Number Line -

1 a) What mteger does pomtA represent" aY
= .~NA' |234 ‘ _
?-ig Tl T '. o ) T e 10

b) What ls the g@ of the lnteger represented by pomt A?
:2. Fmd the opposrte of -9.

.' 3. Determme whlch mtegers con‘espond to the s|tuatlons Z 5 O r e Z 5
' a) On Wednesday. the temperature was 25°-above zero. e

.. b) OnThursday.ltwasTbelowzerb +7 Or‘ "'7

4. Whrd'usrtuahon canthemteger—lo represent? e
- oA spendmg 10dollars - '_ e o galmng 10yards
' Q’B.. walkmg up IOstalrs o ;}_ 0 D, earmng 10 dollars

2150 A puint on the slde ofa mountaln is7, 039 m above sea Ievel Express thls
elevatlon as an mteger. B .

284 6. Whld‘l sltuatlon can the mteger 11 represent" ( pOSIHVQ ”)
(@) A. Aflsh swrms 11 ft below sea level
o] B A blrd ﬂles 11 ft above sea Ievel.

L3

O C. You scuba dlve 111t below sea level

Yecl p( 0(0 ] 7.a) Wntmg What i is the opposrte of 73

fneans TO N~ b) What is the reaprocal of 137
N\ s,\ \ p . i ‘ &

Tz
- 8 Error Analysrs Your fnend lncorrectly says that pomt A and pomt B represent
opposlte lntegers i e : :
""<-|—.A o e ey 4
-0 ; -q *3 Z -‘ 0 . 5 b 7 g 10

a) What is the opposrte of the integer represented by point A?

b) What is the opposite of the ifnteger represented by point B?

c) Why is your friend lncorrect"
or B O A. The distance from 0to A is greater than the distance from 0 to B.
O B. The distance from 0 to A is less than the distance from 0 to B.
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Practice 8-1 n .Homework K



' 9, Open—Ended Whlch srtuations(s) could be represented by -1 04? Check alI

thatapply, -0 - e e
ﬂ\u«[ : - QA :skiing 104 ft down a mountam : Rl T
jE Q8B a blrd flying 104 ft above the ground

ac spendlng 5104 on vacatlon
Q. eaming $104 at your summer job

10. Reasoning TWo people are scuba dlving. One diver is 36 ft below the surface b

."The other IS 44 ft belg the surface.

; b) Whrch dlver is. deeper?

a) What lntegers represent where the divers are wnth respect to the surface‘? 1

12. A meteorologlst forecasts the temperature to be S‘C below zem The

 integer -6 reprsents this srtuatlon.
‘a) Find the opposrte of this mteger

b) Which of the followmg represents the qgglt_e_ of the srtuatlon? .
A. The meteorologlst forecasts the temperature to be 5°C degrees i

_.-Bor f._ " - abovezero, e
st o} B The meteorologlst foreasts the ternperature to be G'C degrees :
e b’*elowzero 3 5 i
C The meteorologist forecasts the temperature to be rc degrees:
belowzero : e
O D. The meteorologlst forecasts the temperature to be G‘C degrees
: above zero.

13. Multlple Representatlons You and a fnend are
" hiking up a mountam At one point your friend
is 54 ft hlgher up than you are. What integer
represents your elevation relative.to your
friend’s? Your friend's elevation relative
to yours? . i - :

: e O d) LN : :

14. Thll'lk About the Process You are gwen a number lme wnth Iabels for —1 00 0

- 100, and a point piotted for an integer A. How can you plot tha point for the
opposite of the integer A?

5 - A
100 . 0 =

]
o L
v 1
. Draw any point to the right of 0 on the number line.

A
B. Draw any point to the left of 0 on the number line.
C

. Draw a point to the left of 0 on the number Ime at the same distance
from 0 as A is to the right.

X D. Itis not possible to plot the 6556‘5‘:'& of point A.

- 15. T_htnk A_boutthe-.?rqcess.A cantestant in a.gj Y é#how,hass,ooo'polnts. The ..

tive integer? - -

nd:loses 750 polnts.

ger-or a nega

. contestant answérs:the next'iiu_estl‘i;ih'in_corr tly
“*-.a) Daes the word-*lose" suggest a positive infe

- A positive Integer ..

Ak
8.

A Anegatieinteger <,
" b) What Integerrepresefts a loss of 750 points? -




